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(23] = 8 2 4

DAY NO AN=d S3ANA(= s&(L/min) [SBs=(0H/cr) ZU0HF

12/28 1 #1 74 14 0.005 JI=Xl0lat
! 2 #2 74 14 0.003 JI=Xl0lat
! 3 #3 74 14 0.004 JI=Xl0lat
! 4 #4 74 14 0.006 JI=Xl0lat
! 5 #5 74 14 0.007 JI=Xl0lat
! 6 #6 74 14 - =45
! 7 #7 74 14 - =S4
! 8 #8 74 14 - =45
! 9 #9 74 14 0.001 JI=Xl0lat

(23] = 8 2 4

DAY NO I3 SZANZ(Z2 S&(L/min) [SBs=(0H/cr) GRS

12/29 10 #1 74 14 0.006 JI=Xl0lat
! 1 #2 74 14 0.007 JI=Xl0lat
! 12 #3 74 14 0.004 JI=Xl0lat
! 13 #4 74 14 0.007 JI=Xl0lat
! 14 #5 74 14 0.004 JI=Xl0lat
! 15 #6 74 14 0.003 JI=Xl0lat
! 16 #7 74 14 0.007 JI=Xl0lat
! 17 #8 74 14 0.006 JI=Xl0lat
! 18 #9 74 14 0.008 JI=Xl0lat
! 19 #10 74 14 0.005 JI=Xl0lat
! 20 #11 74 14 0.006 JI=Xl0lat
! 21 #12 74 14 0.007 JI=Xl0lat
! 22 #13 74 14 0.008 JI=Xl0lat
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